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2023 0Off &4

g 2t & e (A) (B)
o ZUHEH x 12 g = 1,200
20 3,000 2,000 1,000
3,000 2,000 1,000
O AN RFXY| 3,000
o AR FAH x 10 3 = 3,000
30 0 2,970 22,970
0 2,970 A2,970
O 4028 2E3 0
o JI2HM4UEE x 11 % -
(=il 562,800 650,000 287,200
e al = 562,800 650,000 A87,200
RealalR= 562,800 650,000 A87,200
722 0 562,800 650,000 A 87,200
10 24,003 24,500 A497
24,003 24,500 A497
O JI2ZtH 22Xt 24,003
o JI2tHIQI2AH] X 9& = 24,003
20 532,157 617,805 85,648
532,157 617,805 85,648
O Lut=24| 529,057
o AIREZ P x 1 A 357
o ZHEH| x 1 A = 24,000
o GHAIHI x 2 B = 2,000
o &Iyl x 1 3 = 8,000
o SHIERAIYH
- 2y X so00000 X} = 120,000
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2024 0f &4

2023 0Off &4

g ala[M= = ) 8) Z 2(A-B) SHS(HEZH)
B - 2N (dsga)|=HA) 20 & x 1,000 OH = 20,000
- FNS(LSYAINESH) 10 &2 x 200 O = 2,000
- BIS(YdEEAIINEER) 4 #F x 1,000 OH = 4,000
O=fI¥s S 292 3,100
o NE2goFasg 1,000 && x 1 A = 1,000
o NetME It 2,100 &2 x 1 4 = 2,100
202 044l 2,000 2,000 0
01 =2LHOYI 2,000 2,000 0
O =AY 2,000
o ZUHEE 29 X 100 && x 10 3 = 2,000
203 R F=&H| 2,000 3,000 A 1,000
07 At B RF &I 2,000 3,000 A 1,000
OAMSHRFAHI 2,000
o HRFAHI 10 & X 20 &% x 10 & = 2,000
304 H=2E2 S 2,640 2,695 AB5
01 AIgIEE2Y 3 2,640 2,695 AB5
O 4028 <3 2,640
o JI2HM4UEE 24,003 A x 11 % = 2,640
HX. D2Ad A & A== At 0 105,000 A 105,000
700 At HI S 0 105,000 A 105,000
710 U 0 105,000 A 105,000
722 CHEH AL HI 0 105,000 A 105,000
201 et | 0 105,000 A 105,000
01 AtS2teltl 0 105,000 A 105,000
O Bt=ZH| 0
o AEES FEHl - 338 x 1 4 = -
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Mol = ) 8) Z 2(A-B) SHS(HEZH)
- ) o (HAFAAGSZME2)E MR ZYI - & x 65000 X} = -
o (HAFAE R ME2)H I - &Y x 1,000 OH = -
o (HAFAAGZME2)SAFWZ Y] - ¥ x 3,800 OH = -
o (BHSAOHNDEA) S I - ®& x 3,650 Of = -
2-2. 8= A# AR ALY 64,110 150,000 A 85,890
700 AHSHIE 64,110 150,000 285,890
710 SHIE 64,110 150,000 285,890
722 CHEM A HI 64,110 150,000 285,890
101 el24y| 28,000 0 28,000
04 J|12tHI2E2 S 2+ 28,000 0 28,000
O JIZtMZ22 Xt 28,000
o J|2+HIel2Ad| 19 x 3500 && x 8 & = 28,000
201 LBt 31,930 148,400 A116,470
01 At 2telHl 25,000 148,400 A 123,400
O g Bt==2H| 25,000
o OI0IX &< 10 && x 500 = = 5,000
o 228 ==t 10,000 && x 2 & = 20,000
03 A2 S HI 6,930 0 6,930
O A2 EH| 6,930
o =S| N 6,930 && x 1 3 = 6,930
202 G4l 500 1,000 A500
01 =LHO4BI 500 1,000 A500
O 2UWAYI 500
o UEH 2 & X 50 &% x 5 3 = 500
203 LR F&lH| 600 600 0
07 AHH AR F=&1H| 600 600 0
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g T g - ﬂmg 2024(/24)@04 2023(51;&% = 21(A-B) A= (AEE)
OAMNSHRFEHI 600
o HRF&HI 53 X 30 & x 4 3 = 600
HIRES S 3,080 0 3,080
JAEERES 3,080 0 3,080
O 402 23 3,080
o JIZTHI4AUES 28,000 & x 11 % = 3,080
- At 96,600 180,000 A 83,400
96,600 180,000 283,400
710 SHIE 96,600 180,000 283,400
96,600 180,000 283,400
16,002 24,500 A8,498
2ZNsSE=+ 16,002 24,500 A8,498
OJIZtHZ22 Xt 16,002
o JI2+HIelAd| 1 ¥ x 2667 & x 6 & = 16,002
2l 77,488 151,455 ANT3,967
=2l ] 72,388 151,455 ANT79,067
O get==ZH| 71,388
o A& SAFY Ol 388 & x 1 Al = 388
o (Qhrdd) e 90 @& x 8s0.000 K} = 31,500
o (MD)W E 20 @ x 8s0.000 X} = 7,000
o (WE83Yl)™ 4 #& x 5500 OK = 22,000
o (AdE3dl)ung 1 #& x 5500 OH = 5,500
o (2l 40 & x 100,000 K} = 4,000
o (2ELI)E 10 2 x oo Xp = 1,000
OfIde s 2g+4 1,000
o NES IA=E 250 #¥ x 4 9 = 1,000
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EER ;* ﬂmg 2024 Oeset | 2023 Ot | g A2 (s
03 #AL2 | 5,100 0 5,100
O #AR | 5,100
- st&0)sl WA 5100 &= x 1 & = 5,100
2 0fH| 600 600 0
01 2Uoibl 600 600 0
O 201l 600
- AYEF 3 2 x 40 @® x 5 3 = 600
3 =AY 750 750 0
07 AR RE Y| 750 750 0
O AR EF Y| 750
- YREZY) 5 2 x 3 @ x 5 3 = 750
4013993 S 1,760 2,695 A985
NREEEEEE 1,760 2,695 £935
O 4028 22 1,760
o JIZ2tH4UES 16,002 &H& x 11 % = 1,760
ZHDB 75 Al 390,000(  400,000] 210,000
T 390,000(  400,000]  A10,000
ot 2 390,000(  400,000]  A10,000
T & A1 ] 390,000(  400,000]  A10,000
01 eIt 48,006 54,000 A5,994
04 JIAH2RISE 4 48,006 54,000 A5,994
CBIENEES 48,006
o JI2EHIQl 2 bl 2 o x 2667 ®® x 98 = 48,006
| ety 220,213( 241,081  ~11,868
01 AR Z2lt| 229,213(  241,001|  A11,788
O ger+gH| 226,963
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EER ;* ﬂmg 2024 Oeset | 2023 Ot | g A2 (s
o AIREE 2| 463 A x 1 A = 463
o SE=SI|=UO0IH 5
- AMIHHM(RAMIZE) 12 &2 x 7,000 OH = 84,000
- HA(RMEE) 15 &2 x 4,400 OH = 66,000
o AZEHEAEQA 40 & x 730000 K} = 29,200
o ABEHUAENS 10 &  x 730,000 Of = 7,300
o AZCEZ EHY 2 ®™& x 20,000 OH = 40,000
ORIds & 28+ 2,250
o A ALY 7 9 X 250 ®® x 1 3 = 1,750
o AZSEAE 1T g x 250 & x 2 3 = 500
2 04| 1,000 1,000 0
01 2U0itl 1,000 1,000 0
O 20l 1,000
o ZUHEE 5 & x 100 && x 2 3 = 1,000
3 HYRFNYI 1,500 1,500 0
07 AHH A R =ZTY| 1,500 1,500 0
O A 2 F&H| 1,500
o HRFAHI 5 @ x 30 & x 10 3 = 1,500
7 AR 85,000 76,479 8,521
01 ¢ EAH 85,000 76,479 8,521
Ot E=d=1:] 85,000
o MEANSSHXIAL L DBE 85000 ®& x 1 Al = 85,000
4 SR DH 20,000 20,000 0
05 =& KXY 20,000 20,000 0
O =&KXl 20,000
o W OIX RX&= 20,000 & x 1 3 = 20,000
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T ;r ﬁmg 2024(/24)@%” 2023(81;&% = 2HA-B) o= (aEa)
304 9I3RL3 S 5,281 5,940 659
01 MBI EBIRE3 5,281 5,940 659
O4lEs 2e3 5,281
° DR E 48006 @A x 11 % = 57281
ASHT S&5 Al 11,800 40,000|  A28,200
2 11,800 40,000(  £28,200
I8 11,800 40,000(  £28,200
722 Ch AF | 11,800 40,000(  £28,200
201 YLt 10,000 36,000  ~26,000
03 BAI2 | 10,000 36,000  A26,000
O A2l 10,000
- FEERE 10000 @& x 1 3 = 10,000
202 0O 800 1,000 £200
01 2LHOIH| 800 1,000 £200
O 2ol 800
o BUHEEF 4% x 50 ®® x 4 3 = 800
203 QR EXH| 1,000 3,000 £2,000
07 AF 2 F A Y| 1,000 3,000 £2,000
OANZYRETH] 1,000
] 508 x 20 & x 1 3 = 1,000
SEH 74 A 106,690| 100,000 6,690
2 106,690| 100,000 6,690
o8 106,690| 100,000 6,690
722 THE AL 106,690| 100,000 6,690
01 et 3,990 0 3,990
03 BA2 | 3,990 0 3,990
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NEIEM ;“ il = m'(f)oﬁ” ’ 'Eﬁ" = 2(A-B) A= (MHEZAH)
2024 Nl THISAMS 110,000 110,000
3-1.EEHAR25HSEA 30,000 30,000
700 AtHI 2 30,000 30,000
710 HHI & 30,000 30,000
722 THE AL H 30,000 30,000
201 LEr2H Y| 30,000 30,000
01 AF222|H 30,000 30,000
O get424| 30,000
o OIHRAIAI AL RLDZ 20 A#A 500 OH = 10,000
o SIHKIEI| AFRIEHY| 20 =¥ 250 = = 5,000
o QAR SEAHY & 2HHH A 20 A& 500 A = 10,000
o OIHII2 AMAIGHAI 20 =¥ 250 Of = 5,000
3-2.9AKE E= & E2 50,000 50,000
700 AtEHIS 50,000 50,000
710 SHHIE 50,000 50,000
722 CHE AL HI 50,000 50,000
201 et | 50,000 50,000
01 Ar222lH 49,750 49,750
O get=ZH| 49,750
o QlAfH| 500 =¥ 1 3 = 500
o AR ESHI 500 ¥ 1 3 = 500
o A= (oHH) 48,750 =g 13 = 48,750
14 3|2/d| 250 250
O 29l 250
o 3|2l 6 H 8 #A 5 3 = 250
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STETTE = s 1B | 2w A= (5 2)
olze o2 F MR U 30,000 30,000
700 NRIHIS 30,000 30,000
710 221818 30,000 30,000
754 2ptaiely 30,000 30,000
201 2preey 29,000 29,000
01 Al 2l 500 500
SEEEET 500
- AREBRUH 500 # s = 500
03 B A2 b 27,500 27,500
SETEET 27,500
o A2 EHI 27,500 & 3l = 27,500
CEET 1,000 1,000
SEEE 1,000
- slo/y 100 10 @ s = 1,000
202 01 1,000 1,000
01 20401 1,000 1,000
O 2uoi 1,000
. AEI 4 50 @ s = 1,000
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<EH 1> 2023'3 O HFAO|EAAZM

9. HY
x| <] 0|84 2|0
2 o ATt Aol of| Akoy | AR XZY Cr2EE O|EY  HAJO|HY ERE 29
(Atz0|2oH)
||
B Hel2d %0 Btx 91 AFR 27 R k] LA 150,000 150,000 150,000
. 2024.01.16. ==& &
A SH | SR s W ALRSZ TR Ry 150,000 150,000 150,000 150,000 | “5 3F93F‘:‘¢E7?;_01|7: 1
; O1- O -d [=]
Hel2d FHD Ex 9 AR S 7 THHE K] A 200,000 31,100 168,900 168,900 s, 29, WSk e
Hol2 g1 =25 8 MRSt S E ' ' ' (2024.01.29. BE)
AldE| o 2ofe] D 2E 9 ALRSZH IHHR k] A 200,000 168,900 31,100 168,900 168,900
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